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(c)
14
15
16
(d)
1) 14
A
2) 15
2) H15
3) 16
% H16 H15

432




4)
H17

5)

0.01Hz

(e) 17

433

1Hz

1Hz

0.01Hz



) 1

(a)
RC

(b) H17
1)

SD

800mm

150mm

1Hz(R=1/100rad.

1/100

1000mm

RC 2
1/3
SS

80mm 200mm

200mm 1

0.01Hz

mm

( Ss SD) ( FS FD)

2F Bx<D

200>=<200

14-D13(pg=4.4%) SD390 | 8-D13(pg=2.5%) SD295A

2-D6@50(pw=0.64%)

none

2F Bx<D

200>=<200

4-D10(pt=0.27%)

300

2-D6@100(pw=0.42%)

2F

80

D6@150(ps=0.27%)

B>=<D

200><200

1F

14-D13(pg=4.4%) SD390 | 8-D13(pg=2.5%) SD295A

2-D6@60(pw=0.53%)

2-D6@120(pw=0.13%) [ D6@60(pw=0.13%)

150><200

1F

4-D10(pt=0.54%)

2-D6@100(pw=0.42%)

1F

80

D6@150(ps=0.27%)

FC=21MPa, (SD295A)

434



b~

0552
0§E aooma 008 aooma 008 H [T

====q zzIzic =

S i
.......... + _% %_lﬂ_ = + 1oois H
EEEEE zzIzis -
=== e =
...................... | #

FERFREIE ARG/ 1 R

2000

|200

1000

1400

200]

a-a' ETmE

435



¢ 14-13

PL-9
u{z;;;jh B3 4—017 11-D6
/o) 1
; ) ; :, T
B
! =
AN
&
#E
BD 4010
Ho , :
B 06— B 'géﬁé*’ D!Ellm E'E'
S :--H--- ' ) ) :. =
o —C3 14D6
g 1IIH-H g 1
; 1l: :li‘ =
g g
¥ '-HHF“ "l
1llu-l|‘ u-
\ '
i e
i \
#
N N
\ \
W2 o068 Wi 7-D6
PLD
T o o0
i
_ -2 48-06
\ o 1008

W2 9-06

436



CE 8-D13

PL-0
EHTL—F B3 4-D10 11-D6
(iR TE )
B0,
i L
=
3
HE*NEH
H""‘-“‘H :
B2 11-D6— | it = 10
. NEITom o
/
i 48-06
Eg P
B - 0@ 28-D6
|
1 — 'I,.-r"
\ v d

Win DE-850

\

N HH N Ml
\ \ \
W2 9-D6 Wi 7-D6
%ﬂﬁm-ﬂiﬁh—b
Igﬁﬂﬂh KD 7-06 “ﬁﬂﬂmc@&ma
Eg _ _“* L e 02 aa06
\ e d 4

W2 9-06

437



2)

2
13.5N/ 2 21N/ 2 3
SD295A  D6( ) D10( ) D13(
) SD390 D13( )
SD345  D25( )
Op Op
() [ (N/mm?) ()l (Nmm)
1 49 222 1 55 220
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4 4
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2 h
) olh AC D 4
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4 1/100  0.01Hz
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1/133 19.17 0.01
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kN
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